9.1 Greatest Common Factor
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| Factor the following if possible.
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Use the Zero Product Rule to solve the fo ing factored equations.
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_Solve the following by factoring.
21 3x?-12x=0 22. 0= 5x% +25x
x 3w Sx 5x
3><(><-Ur =0
e - x _2 —o 0= Sx(x+5)
X= o , Y = LI' 9X=0 x+5=0
X=0 I p
23. 40— 10a=0 24, 31(2 9x
do. IR v 3?3’0\X O
o W 3y
Ax( I —
( 3x(x-3)=0
= § 37( le 3 o
a=ol A=%g4 X=0| %x=3
| Solve the following by factoring.
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| Answer the following.
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34. Write the equation of the linear

35. Write the equation of the

36. Ef(x) =12 — 3x, find £(3) + 1

function. X~ T . exponential function.
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